Download More Papers From www.GovtJobsAlert.In

Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : www.GovtJobsAlert.In
[Registration No.

[Name :

[Exam Venue : iON Digital Zone iDZ Attingal
[Exam Time : 9:00 AM - 10:30 AM

[Exam Date : 02/03/2019

Section : General Section

Q.1 Identify the figure from the options that has the given figure embedded in it. (Rotation is not allowed)

Ans

SR

Question ID : 9895808235
Chosen Option : 1

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

Thermometer : Temperature : : Lactometer : ?

Ans X 1. Honey
& 2. Rain
v 3 Milk
< 4 Wind

Question ID : 9895808217
Chosen Option : 2

Q.3
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A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?

N
N

. LA

Ans

VAN

Question ID : 9895808237
Chosen Option : 2

Q4 Pick the odd one out.
Ans of 1. EFRS

X 2. ANBO

X 3. CODQ

X 4 GTHU

Question ID : 9895808215
Chosen Option : 1

Q5 Find the next number in the given series.

37,45, 53,61, ?
Ans “1. 69
X272
X3 62
X 4 65

Question ID : 9895808227
Chosen Option : 1

Q.6 What will be the value of the following equation if *+’ means 'addition’, *+' means 'subtraction’, *—' means
‘'multiplication’ and < means 'division'?

48 x6-5+-8+1=17
Ans “ 1. 47
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X 2 49
X 3 56
X 4. 53

Question ID : 9895808232
Chosen Option : 1

Q.7 Select the option that is related to the third term in the same way as the second term is related to the first term.

2325 08

Ans x 1. 20
X215
X3 10
v 4 30

Question ID : 9895808229
Chosen Option : 4

Q% Find the next number in the given series.

6. 199%.5979
Ans x 1. 53

X 2 49

X3 41

v 247

Question ID : 9895808228
Chosen Option : 4

Q.9 There are a few students sitting on a classroom bench. Anand is sitting in the 7t position from the left-hand side. Binoy

is sitting in the st position from the right-hand side. Five students are sitting between Anand and Binoy. In total, the
class has six rows of benches with equal number of students sitting on all of them. What is the total number of students
in the class?

Ans X 1. Q0
X2 114
v 3 102
X4 122

Question ID : 9895808222
Chosen Option : 3

le Select the option that will replace the question mark and complete the given pattern.

?

.

e
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Question ID : 9895808234
Chosen Option : 1

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
1 s true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:

L All pencils are lanes.

1. All lanes are cottages.
Conclusion:

L All cottages are pencils.

1L Some cottages are pencils.

Ans X 1. Both conclusions I and II follow
< 2. Either conclusion I or II follows
' 3. Only conclusion II follows

7< 4. Only conclusion I follows

Question ID : 9895808226
Chosen Option : 1

Q2-1 ‘Which option will replace the question mark and complete the figure series?

R

-J

Ans
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Question ID : 9895808233
Chosen Option : 4

Q.1 There is only one ranway which will be used by seven flights one by one. P and Q will use the runway neither first nor
3 last. S will use it second after R. M will use it second before O. N will use it after O and before R. Q will use it just
before S. Who will use the runway just after M?

Ans X 1N
X220
X3 Q
VP

Question ID : 9895808224
Chosen Option : 4

Q.1 Four words have been given out of which three are alike in some manner. while one is different. Choose the odd one.

a4

Ans (1. Tardy
X 2 Bustle
X 3. Scuttle
X 4 Dart

Question ID : 9895808216
Chosen Option : 1

Q.1 Select the Venn diagram that best represents the relationship among the given set of classes:
5

Pen, Table, Stationery

Ans

KoL

X 3
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&C

Question ID : 9895808238
Chosen Option : 1

INTROVERT

Ans  of 1 THIVOATVI
X 2. TEAOVAT/I
/X 3. DALKOAEKL
/< 4 DAIKAOKEL

Q.1 cChoose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

Question ID : 9895808236
Chosen Option : 3

! CEIGD s LE Y

Ans xl_ RF
X 2. PD
v 3 PF
X 4 EE

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.

Question ID : 9895808219
Chosen Option : 3

%! Find the missing number from the below options.

4 15 33
13 1l 42
9 6 ?

Ans Jl. -
<212
X311
X415

Question ID : 9895808231
Chosen Option : 4

of E. Who is sitting opposite E?
Ans X 1 F

X2 D

X3 B
Page 6 of 35

Q.1 Eight friends A. B. C, D. E. F. H and G are sitting around a circular table facing each other for a group discussion. A is
9  opposite F and second to the right of E. B and D are sitting opposite to each other. G is between C and A. H is to the left
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v

Question ID : 9895808223
Chosen Option : 1

%2 Which pair of letters should follow next in the given series?

AB, DE, GH, JK. ?
Ans x 1. RT
v 2 MN
X3 UW
X4 PQ

Question ID : 9895808214
Chosen Option : 2

Q.2 Ifin a certain code HOUSE is written as 68, then in the same code how will you write the word CASTLE?
1

Ans xl_ 84
v 2 60
X372
X 4 59

Question ID : 9895808221
Chosen Option : 2

Q.2 If in a certain code APRON is written as BRUSR then in the same code how will you write the word STOVE?

2

Ans X 1. TRVIZ
v 2. TVRZI
X 3. TVRZJ
X 4 VRTIZ

Question ID : 9895808220
Chosen Option : 2

Q.2 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
3 is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and

definitely follow(s) from the information given in the statements.
Statements:

L Most poets are boys.

1L Some boys are painters.
Conclusion:

L Some painters are boys.

1II. Some poets are painters.

Ans o 1 Only conclusion I follows

< 2. Either conclusion I or II follows
< 3. Only conclusion II follows

X 4 Both conclusions I and II follow

Question ID : 9895808225
Chosen Option : 4
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Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

4
Fish : Plankton : : Frog : ?
Ans x 1. HEI}’
X 2. Weed
v 3. Insects
X 4 Herbs

Question ID : 9895808218
Chosen Option : 1

Q.2 Four numbers have been given out of which three are alike in some manner, while one is different. Choose the odd one.

5

Ans “1. 571
X 2 676
X 3 361
X 4 484

Question ID : 9895808230
Chosen Option : 4

Q.2 Which sportsman has won the highest number of Player of the Match awards in test ericket?
6

Ans  of 1 Tacques Kallis
& 2. Muttiah Muralitharan
/< 3. Shane Warne
< 4. Sachin Tendulkar

Question ID : 9895807283
Chosen Option : 4

Q.2 In which year did the Rail Budget get merged with the Union Budget after being separate for 92 years?
7

Ans of 1 2017-18
X 2 2018-19
X 3 2015-16
X 4. 2014-15

Question ID : 9895807287
Chosen Option : 2

Qéz ‘Dambe’ is a form of martial arts associated with which continent?

Ans X' 1. America
v 2. Africa
/3. Australia
/X 4. Europe

Question ID : 9895807282
Chosen Option : 2

Qéz When the Indian Constitution was adopted, how many schedules did it have?
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Ans X 1. 10

X212
VER:
X 46

Question ID : 9895807291
Chosen Option : 3

Q.3 The Battle of Saraighat, fought between the Ahoms of Assam and the Mughals, was fought in which year?

0

Ans X1 1652
X 2. 1635
V3 1671
X 4. 1642

Question ID : 9895807301
Chosen Option : 2

23 The monolithic ruins of Rajbari are located in which Indian state?

Ans X 1. Assam
' 2. Nagaland

< 3. Meghalaya
/X 4. Mizoram

Question ID : 9895807280
Chosen Option : 2

%3 “Thang Ta’ is a martial arts associated with which Indian state?
Ans of 1 Manipur

X 2. sikkim

X 3. Assam

X 4 Odisha

Question ID : 9895807281
Chosen Option : 1

Qé3 ‘Bidesia’ is a popular dance form associated with which Indian state?
Ans X1 Odisha

X 2. Tharkhand

v = Bihar

/< 2. West Bengal

Question ID : 9895807278
Chosen Option : 1

Q.3 Who is the only Indian leader to be bestowed the highest civilian awards by both India and Pakistan
4 (Bharat Ratna and Nishan-i-Pakistan)?

Ans 1. Tawaharlal Nehru
/X 2. Mahatma Gandhi
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# 3. Sardar Vallabhbhai Patel

v o Morarji Desai

Question ID : 9895807285
Chosen Option : 3

Q5-3 The filament in the traditional incandescent bulb is made of which metal?

Ans o 1. Tungsten
X 2. Iron

/< 3. Copper
/< 4. Platinum

Question ID : 9895807292
Chosen Option : 4

%3 Bhagoria Haat Festival is celebrated in which Indian state?

Ans o 1. Madhya Pradesh
/< 2. Uttar Pradesh
/< 3. Rajasthan
X 4 Bihar

Question ID : 9895807279
Chosen Option : 3

Q3 What is the process by which Ethanol is produced?
Ans X 1. Salinization

/< 2. Ligation

v = Fermentation

/< 4. Titration

Question ID : 9895807293
Chosen Option : 4

Q.3 The Indus Valley was home to the largest of the four ancient urban civilizations. Which of the following is not one of

8  them?
Ans % 1. Egypt
v 2 Russia
X 3. South Asia

/< 4. Mesopotamia

Question ID : 9895807302
Chosen Option : 1

%3 For tea plantation, what kind of climate is best suited?
Ans X 1. Dry and windy

& 2. Dry and dusty

'3 Warm and humid
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/< 4. Very cold weather

Question ID : 9895807295
Chosen Option : 4

%4 Measles is a disease caused by:

Ans X1 amoeba
X 2. fungi
v 3 virus

X 4 bacteria

Question ID : 9895807296
Chosen Option : 1

Q.4 Which country among the following has the largest land area under agriculture in the world?
1

Ans X1 China
v 2. United States of America
X 3. India
X 4. Russia

Question ID : 9895807299
Chosen Option : 1

Q.4 What is the name of the structural protein present in the horn of a rhino and also the human hair?

2
Ans X 1. Glycolytic
v 2. Keratin
& 3. Amino acid
& 4. Melanin
Question ID : 9895807294
Chosen Option : 1
Q.4 refers to the rate at which commercial banks borrow money from the Reserve Bank of India (RBI) in case of

3 shortage of funds.

Ans X 1. Exchange rate

+ 2. Repo rate
/< 3. Reverse Repo rate

X 4 Market rate

Question ID : 9895807286
Chosen Option : 4

Q.4 When did the government of India pass the PNDT Act to curb the practice of female foeticide?

a4
Ans 511996
X 21992
v 3 1994
X 4. 1991

Question ID : 9895807290
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l Chosen Option : 3

Q5'4 What is the compilation of the teachings of Lord Mahavir called?
Ans X 1. Sruti sutras

/< 2. Piby sutras

« 3 Agam sutras

X 4 Avesta sutras

Question ID : 9895807300
Chosen Option : 4

%4 Why are traditional houses in Assam built on stilts?
Ans  of 1 Danger of floods and wildlife

/< 2. Danger of unsanitary conditions

/< 3. Danger of heavy drought

/< 4. Danger of contamination

Question ID : 9895807298
Chosen Option : 4

Q4 “Train to Pakistan’ is a book written by which of the following author?

Ans 1. Saadat Hasan Manto
# 2. Ruskin Bond
' 2. Khuswant Singh

< 4 Mohsin Hamid

Question ID : 9895807284
Chosen Option : 4

Qé4 The community market is regulated by which of the following organizations?
Ans o 1. SEBI (Securities and Exchange Board of India)

< 2. BSE (Bombay Stock Exchange)

X 3. RBI (Reserve Bank of India)

/< 4 NSE (National Stock Exchange)

Question ID : 9895807288
Chosen Option : 4

Q.4 The concept of ‘single citizenship® in India was adopted based on the constitution of which of the given nations?
9

Ans X 1. United States
X 2 Ireland
& 3. Russia
' 2 United Kingdom

Question ID : 9895807289
Chosen Option : 3
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Q.5 Why are the western slopes of the western ghats covered with thick forests unlike the eastern slopes?
0

Ans  of 1 Receive more rain
X 2. Receive less light

/< 3. Receive less rain
/< 4. Receive more light

Question ID : 9895807297
Chosen Option : 1

Q.5 20% discount on 2000 and 2 successive discounts of 10% and 10% will have a difference of:
1

Ans x 1. %D
< 2 %30
< 3. %40
v 4 220
Question ID : 9895807608
Chosen Option : 3
Q5 .
5 Simplify:

8.4-[5+0.30f(3.3-2.6% 1.07)]

Ans X 1. 3.2464
X 2 3.6244
X 3. 3.6442
v 4 3.2446

Question ID : 9895807605
Chosen Option : 3

Q.5 The least number which should be added to 3857 so that the sum is exactly divisible by 5, 6, 4 and 3 is:

3

Ans Xl- 33
X217
X33

v 2 43

Question ID : 9895807603
Chosen Option : 4

Q.5 The population of a town increased from 1.85,000 to 2.77.500 in a decade. The average percent increase of population

4  peryearis:

Ans x 1. 6%
v 2 5%
X 3 4.37%
X 4. 8.75%

Question ID : 9895807610
Chosen Option : 3

Q.5 A man goes to Mumbai from Kaylan at a speed of 10 km/h and returns to Kaylan at the speed of 15 km/h. What is his
5 average speed of the entire journey?
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Ans o 112 km/h

X 215 km/
&< 3 42 km/
X 4 56 km/h

Question ID : 9895807621
Chosen Option : 1

Q.5 The ratio of present age of father to that of son is 4 : 1. 5 years ago, their age were in the ratio of 7 : 1. The present age

6 of the son is:
Ans X" 1. 5 years
/< 2. 8 years
o 3. 10 years
/< 4. 3 years

Question ID : 9895807613
Chosen Option : 1

Q.5 On selling 17 balls for ¥340, there is a loss equal to the cost price of 5 balls. The cost price (in %) of a ball is:
7

Ans X 1 755

X 2360
2 %70

X 4. %50

Question ID : 9895807612
Chosen Option : 4

Q.5 Paper charge is T55 per kg. How much expenditure (in ¥) would be there to cover a cube of edge 8 m with a paper, if

one kg of paper covers 192 m? area?

Ans X 17165
X 2 %55
X 3 %192
v+ 7110

Question ID : 9895807622
Chosen Option : 2

Q.5 At what rate of compound interest per annum will a sum of ¥1800 becomes 2178 in two years?
9

Ans  of 1 10%
X 2 12%
X 3 11%
X 4 13%

Question ID : 9895807617
Chosen Option : 4

Q.6 A lent 6500 to B for 2 years and I000 to C for 4 years on simple interest at the same rate of interest and received

0 24500 in all from both of them as interest. The rate of interest per annum is:
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Ans x 1. 504
X2 7%
X 3 8%
v 4 10%

Question ID : 9895807616
Chosen Option : 2

Q.6 Sam purchased 20 dozens of toys at the rate of T480 per dozen. He sold each one of them at the rate of ¥42. What was
1 his percentage profit?

Ans of 1 5%
X 2 6%
X 3 55%
X 4 4%

Question ID : 9895807611
Chosen Option : 4

Q.6 Raju and Vinod are working on an assignment. Raju takes 8 h to type 32 pages on a computer, while Vinod takes 6 h to
2 type 44 pages. How much time will they take. working together on two different computers to type an assignment of
102 pages?

Ans X1 12h
X2 14h
vz 9h
X4 10h

Question ID : 9895807619
Chosen Option : 1

Q.6 The mean of 25 observations is 36. Out of these observations. if the mean of first 13 observations is 32 and that of the
3 last 13 observations is 40, the 13 observation is:

Ans x 1. %
X 2 40
X 3 38
v 36

Question ID : 9895807609
Chosen Option : 1
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Study the following line graph and answer the questions.

Exports from Three Companies Over the Years (in ¥ crore)

150 4
140 -
130 -
120 <
110 1
100 4
90 -
80 -
70+
&0 -
50 -
40 -
30 4
0
101
0

Rs., Crores

rount in

Aoy

1993 199 1995 %96 1997 1998 1999

Years

=+Company X —#-CompanyZ —+CompanyY

In which of the following vyear, the total exports from the three Companies was highest?
Ans X 1. 1998
X 21995
X 31996
v 4 1999

Question ID : 9895807625
Chosen Option : 2

Q.6 The average weight of A. B and C is 55 kg. If the average weight of A and B is 52 kg and that of B and C is 48 kg. then
5  the weight of B is:

Ans 31 50 kg
X 2 30kg
V'3 35kg
X4 32kg

Question ID : 9895807607
Chosen Option : 3

Q.6 Original breadth of a rectangular box is 20 cm. The box was then remade in such a way that its length got increased by

6 15% but the breadth decreased by 5%. This led to an increase in area by 74 em?. What is the length of the box?

Ans  of 140 cm
X 2 30 cm
X 3 20 cm
X 4 60 cm

Question ID : 9895807624
Chosen Option : 1

Q.6 A can do a certain work in the same time in which B and C together can do it. If A and B together could do it in 8 days
7 and C alone in 40 days, then B alone could do it in:

Ans X 1. 25 days
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/< 2. 15 days
/< 3. 30 days
W 4 20 days

Question ID : 9895807618
Chosen Option : 3

Q.6 If the average marks of three batches of 50, 56 and 44 students respectively are 55, 52, 40, then the average marks of all
8  the students would be:

Ans  of 14948
X 2.50.48

X 3 49.84
X 4 49

Question ID : 9895807606
Chosen Option : 2

Q9'6 A car fravelling with 3/8t of its actual speed covers 65 ki in 2 h. 10 min. Find the actual speed of the car.

Ans X' 1. 120 km/h
V2 80 km/h
< 3 160 km/h
X 4 40 km/h

Question ID : 9895807620
Chosen Option : 4

Q.7 Study the following line graph and answer the questions.
Exports from Three Companies Over'the Years (in T crore)

130 4
140 +
130 +
120 +
110 1

unt in R Crores
g

o
=

1993 1994 1995 199 1997 199 1999

Years

=+(CompanyX  —#-CompanyZ —+CompanyY

What was the difference between the average exports of the three Companies in 1994 and the average exports in 19957

Ans X 1. %5 crore
X 2. %20 crore
v 3 %10 crore
X 4. Z30 crore

Question ID : 9895807627
Chosen Option : 4

Q.7
1
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Study the following line graph and answer the questions.

Exports from Three Companies Over the Years (in ¥ crore)
130

130 ¢
120 -
110 +
100 4
90 1

Amount in Rs. Crores

&0
70
60 +
50
40
30+
0 -

101
0

1993 1954 1995 1996 1997 1998 19%9

Years

=+=Company X =#-CompanyZ —+CompanyY

In which year was the difference between the exports to Companies Y and Z the maximum?
Ans X1 1996

2 2. 1994

X 31997

v 4. 1995

Question ID : 9895807626
Chosen Option : 4

Q.7 When Jaya divided surface area of a sphere by the sphere’s volume, she got the answer as 2/3 cm. What is the radius of

2 the sphere?

Ans X1 54 cm
v 2 45cm
X3 35cm
X 4 46cm

Question ID : 9895807623
Chosen Option : 2

Q.7 Price of each article of type P. Q. and R is 200, T300 and T400 respectively. Suresh buys articles of each type in the
3 ratio 1:2: 3 for %2,000. How many articles of type Q did he purchase?

Ans x 1. 4
X23
X35
2

Question ID : 9895807614
Chosen Option : 3

Q.7 Two numbers are in ratio 2 : 3. If 50 is subtracted from the first and 50 is added to the second. the ratio becomes 1 : 4.
4 Find the sum of the original numbers.

Ans X 1. 400
< 2300
< 3100
v 4 250
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Question ID : 9895807615
Chosen Option : 4

Q7 simplify:

25-48+6+12x%2
Ans X1 45

X2 51

V'3 41

X 4 43

Question ID : 9895807604
Chosen Option : 3

Section : English Language

Q1 Select the word which means the same as the group of words given.

A place in a large institution for the care of those who are ill.
Ans - X 1. Clinic
' 2. Infirmary
& 3. Shelter
X 4. Camp

Question ID : 9895807951
Chosen Option : 1

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.
He is felt extremely unhappy vesterday because of the inordinate delay of the messenger.

Ans X 1. No improvement
/< 2. He has feeling extremely unhappy yesterday
' 2. He was feeling extremely unhappy yesterday
/< 2. He have been feeling extremely unhappy vesterday

Question ID : 9895807935
Chosen Option : 3

Q.3 select the most appropriate word to fill in the blank.

The complexity of the current environment includes many challenges in general, but air pollution in
Ans  of 1 particular
/< 2. common
X 3. public
& 4 overall

Question ID : 9895807955
Chosen Option : 3

Q4
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Select the option that means the same as the given idiom.

To turn over a new leaf
Ans X 1. To turn over the page of a book

X 2. To be always careful about one’s behaviour
< 3. To make new things happen

2 To change one’s behavior for better

Question ID : 9895807950
Chosen Option : 4

Q.5 Select the most appropriate option to fill in the blank.

Researchers say that about 33 % of people with diabetes may _ a skin disorder in their lifetime.
Ans X1 has been
& 2 has
v 3. have
4. have been

Question ID : 9895807938
Chosen Option : 1

Q6 Select the synonym of the given word.

ELAPSED

Ans  of 1. Ceased
/< 2. Prolonged
< 3. Persuaded
X 4 Connected

Question ID : 9895807946
Chosen Option : 1

Q7 Select the word which means the same as the group of words given.

A close fitting cover for the blade of a knife or sword.

Ans X 1. Packet
X 2. Mask
v 3 Sheath
& 4 Pouch

Question ID : 9895807952
Chosen Option : 4

Q8 gSelect the correctly spelt word.

Ans  of 1 Infrastructure
& 2. Infrastracture
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& 3. Imfrastructure
X 4 Infrastructur

Question ID : 9895807953
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing yoga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 9
Q-9 Select the most appropriate option that will fill in the

blank number 1.
Ans 2 1. helpful

< 2. submissive
/< 3. ambitious

v 4 vicious

Question ID : 9895807940
Chosen Option : 3

Comprehension:

Page 21 of 35 Download More Papers From www.GovtJobsAlert.In




Q.1
0

Ans

Download More Papers From www.GovtJobsAlert.In

In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing voga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 10
Select the most appropriate option that will fill in the

blank number 2.
/5 1 say

/< 2. speak
o 3. says

< 4. saying

Question ID : 9895807941
Chosen Option : 2

Q1
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Comprehension:

In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing yoga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 11
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1 Select the most appropriate option that will fill in the

blank number 3.

Ans 3 1. preference
& 2 aim

v 3. tendency
< 4. choice

Question ID : 9895807942
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing yoga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 12
Q2-1 Select the most appropriate option that will fill in the

blank number 4.

Ans X 1. whose
& 2. when
& 3 whom
v 4 who

Question ID : 9895807943
Chosen Option : 4

Comprehension:
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In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.

Man is a 'social animal'. Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour.
Psychologists (2) that though violent behaviour
is inherent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4) need professional help.
Meditation and practicing yoga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 13
Qél Select the most appropriate option that will fill in the

blank number 5.
Ans  of 1 rectify

/< 2. unsettle
/< 3. deal

/< 4. increase

Question ID : 9895807944
Chosen Option : 4

Q! Select the antonym of the given word.

ASSAULT
Ans o 1. Defend
X 2. Agree
& 3. Offend
X 4 strike

Question ID : 9895807948
Chosen Option : 3

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
5

Computers everywhere use random numbers as keys to locked or unlock encrypted information.

Ans  of 1 keys to locked or unlock
/X 2. Computers everywhere

X 3. use random numbers as
X< 4. encrypted information
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Question ID : 9895807932
Chosen Option : 2

szl Select the option that means the same as the given idiom.

To bury the hatchet
Ans 1. To bury an axe
/< 2. To bury old utensils
« 3. To make peace
< 4. To make someone happy

Question ID : 9895807949
Chosen Option : 4

Q7'1 Select the antonym of the given word.

INDOLENT
Ans X 1. T ifeless
X 2. Inert
X 3. Sluggish
W 2 Lively

Question ID : 9895807947
Chosen Option : 2

Qél Select the most appropriate word to fill in the blank.

If vou have a for photography. you do not have to wait for your big break.
Ans  of 1. passion

< 2. demand
& 3. claim
/5 4. response

Question ID : 9895807956
Chosen Option : 1

Qél Select the most appropriate option to fill in the blank.

Atoddler’sbrain  pretty much fully developed by the age of three.
Ans x 1. are
&5 2. were
/5 3. was
v s

Question ID : 9895807937
Chosen Option : 3

Q.2
0
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From the given options, identify the segment in the sentence which contains the grammatical error.

It makes us realise how unsuitable our education system are because it cannot help us deal with life’s most basic issues.
Ans X 1. Jife's most basic issues

X 2. it cannot help us
' 3. education system are

X 4 It makes us realise

Question ID : 9895807931
Chosen Option : 1

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
1

With the help of skill- based education offer in colleges, many students will become eligible for various jobs.

Ans 3 1. many students will become
X 2. With the help of
X 3. eligible for various jobs

W 2 skill- based education offer in

Question ID : 9895807933
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is noneed to
2 substitute it, select No improvement.

The convict was informed that the judge will heard the case tomorrow.

Ans X 1. No improvement
' 2. judge will hear the case
< 3. judge will hearing a case
7< 4. judge hears a case

Question ID : 9895807934
Chosen Option : 2

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No improvement.

Ans o 1. No improvement
< 2. application have been a great support
< 3. applications has been a great support
X 4. applications will been a great support

Question ID : 9895807936
Chosen Option : 3

Q2 ;
o Select the synonym of the given word.

BOUNTIFUL
Ans 1. Religious

/X 2. Pretty
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X 3. Spiritual

'f 4. Generous

Question ID : 9895807945
Chosen Option : 3

%2 Select the correctly spelt word.
Ans X 1. Knowlege

X 2. Knowledg

v 5 Knowledge

X 4. Knoledge

Question ID : 9895807954
Chosen Option : 3

Section : Hindi Language

! FEr a5 AT eeg @ 99T H
Ans xl' ﬁﬁm
X 2 ot
X s oEr
v o ot

Question ID : 9895806734
Chosen Option : --

Q2 R aw g & wifea @F = wiavwfia == & v 39w e &1 997 =)

TT HEH TAS &
Ans xl- Fha'T

2 FIST T
X 3 g =mfea
X 4 BT Aa

Question ID : 9895806713
Chosen Option : --

3 mdr I3 AT oe T T

Ans x 1. aﬂr
v 2 8T
X 3. &gur
x4 &g
Question ID : 9895806733
Chosen Option : --
Q.4
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BT 9T 9reg & TIISTET AT FT TAT HL

HETSH
Ans Xl- Hﬁ?ﬁ'
X 2. FemET
X 3 gy
V' 4 3FeET

Question ID : 9895806727
Chosen Option : --

®° T 7T IET F TE AT A FHEE ;S T R

HTHYUT T Fg TF AVSTIE AN Agal T UK 2
A of 1 TRYT FT FE

X 2 guzgT Bl
X 3 I AUSTE

X 4 omEr A Fr

Question ID : 9895806710
Chosen Option : --

O 2 T Ty F BT T o S

ToRt ¥ weE
Ans XL et

V2

X 2. aifers

X 4 e

Question ID : 9895806732
Chosen Option : --

Q7 fr=fafam # ¥ 37 fooew & 9o &t S WY F T AT FqEEy 1 HE =T T
e X1 mxer FE T

X2 og & [fFT 9= e

A3 HToT FE FAT

v agamam‘r LAl

Question ID : 9895806730
Chosen Option : --

Q.8
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f&w 710 T A WWifed @5 # yowuita &= F T 39gFd Reed &1 99 #4

HigsT 39 F1H F 10T 2
Ans X1 CET

v anfaw

Ko gt

X 4. =TelTeh

Question ID : 9895806712
Chosen Option : --

Q'gﬁ:’t'?mai?q'a:rﬁa’mgﬁl

FEF
Ans XK1 ey

Xz.%‘%
X 3 gTpiaes
R

Question ID : 9895806725
Chosen Option : --

% fow =TT T @ 3 AT A9 A S w3

i & e 387 99 SUER 9 &
S S —

v 2 R &

X og gl

X 4 femer gt

Question ID : 9895806711
Chosen Option : --

Y R T e F RIe suged oeg & wwe #7Y

TE T I AT TES ¥ wie |
Ans Xluﬁ

X2 ar

Vs g

X g
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Question ID : 9895806717
Chosen Option : --

%! fRw AT weg % TITEETEN AeE FT 9O Sy

EJB'

Ans of 1 HT
X2
X 3 HTEIE
X 4 AT

Question ID : 9895806728
Chosen Option : --

% fow oTT ST # 3 AT A9 S S S e

aferar #r gierar aar ra=og 24 gl
XL e e

< 2 gl
v 2 ofgrgt
X4 g

Question ID : 9895806709
Chosen Option : --

Comprehension:

frrafoi@a searer & Rea Tyt @ qf searr & 9= o
AT FeAT & HJAN HIfAT-

A Oieey ¥ & gEa-gHT 97 gAR 39 7 O 39 EHY,

3k (1) 1 3T & TR FT BIAT 3R 3¢ FATA
FA H AT qOT (2) == &7| FAT AT e T
YFR & hiFd I 3wl Thar AR Afgsomar Hr S anw
g, ag 1’ a9 (3) 7T S T o gAY A A
dtemer ¥ v AT, T it gaeeE (4) & =
Eﬁﬁfﬁ?ﬁﬁma[qmgﬁa’dﬂd\ T ¢ 3T gET
Eici ik (5) Fr =T TS F AT W T I
gl
SubQuestion No : 14

Q1

4
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T F Tehfad Ned &= (1) F e
I9GFA Aee FT|

Ans X1 3oTE
< 2 AT

V' e
K 4 FETT

Question ID : 9895806720
Chosen Option : --

Comprehension:
fafaf@a ey & e s § i g & §= o
3T FeAT & HJAN HITAT-

AT oieey & gua-uaT o7 gAR 39 H U e HY,
Ex ey (1) Fr 3T & I Fr 7= 3R 37 FATT
T F AT O (2) =@ &1 FET AT T =
TR & iFd I 3e@die Tl AN Afgsomar Fr S Ay
g, ag 3l a= (3) ET gE1 3T o gAY A F
HoTT ¥ 00 A4, TR Mt gAeaEr (4) & =
EW#%@'W&!MMW*{&W%#WW
HF W HIAH (5) Fr TT=T F= F T FIR I
gl
SubQuestion No : 15

S ety F g Reg = (2) ¥ v
3UgFT AT B

Ans o1 ZTOT
X 2 TagEar
v oafda
<4 FgcIHIET

Question ID : 9895806721
Chosen Option : --

Comprehension:
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fafof@a ey & oa s & i ey & 3= o
3T FeAT & HJAN HITAT-

AT Oieey ¥ & oma-gaT o7 gAR 39 7 U e HN,
3k (1) #r ged F TR F T AR 378 FA
I H AT T (2) == &1 FET AT e T
TR & iFd I 3e@die Tl A \fgsopar Hr S anw
FgrdT, 98 37 I (S)Hﬁgélmaﬁgﬂﬁaarﬁ
HoTT ¥ W A4, AR Mt gAeaEr (4) & =r
sﬂaﬁa:ﬁﬁmﬁrawmgﬁiamdmﬁ%sﬂtm
HH W HAH (5) Fr TT=T T F OT IR I
gl
SubQuestion No : 16

% ety F gFfaT feg = (3) ¥ BT
3UgFT AT B

Ans 5 1 adror
X 2 gEr
V5 3R
){'4.%

Question ID : 9895806722
Chosen Option : --

Comprehension:
afaf@a ey & e wue=r & it g & 5= o
T FeAT F WA HIfAT-

TANT EeT § & FET-9HT W AN & H UF 3% HY,

S ey (1) #r 3T & AR F Tg==T 3R 3¢ FATA
I H HIAT qOT (2) =9 &Y wET HT IMedr s
TFR & efed | 3egle Uehal 3R Aigsuar #r S awr
g, g 307 = (3) FET gF1 T o gAY Ay H
Tt ¥ 0 Aan, R A gAeaEr (4) & =
TH T & &FE HUAr HETH goiq T TEd & 3R T
A 9T 39 (5) #r FT=T wEE ¥ AT AR @ I
gl
SubQuestion No : 17

Q.1

7
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eIy H Thiad Nad TU= (4) & o
3UYFA G B
Ans x‘l. Fg'q
X2 FdA=
v R
X o g

Question ID : 9895806723
Chosen Option : --

Comprehension:
fafaf@a ey & e s & it g & 4= o
T FEAT F HJAN HIfT-

A GlET ¥ & gET-3AT 9T gAY & H UW 3w Wi,
Ex ey (1) #r 3T & AR F Tg==T 3R 3¢ FATA
T H AT O (2) =9 &1 wET T Il s
TR & efed | 3egle Uehal 3R Ffgsuar #r S gy
g, a7 el (3) 7ET g5 =T s EAN 2 A
gl & 0 o, REne 3k EeRdr (4) & S
ﬁﬁﬂtﬂ?ﬁﬁ'ma[qmgﬁﬁmw\ Ea ¢ ¥t gET
HH W HA (5) &Fr IS T F T JAR F I
gl
SubQuestion No : 18

% sy & EHfag e == (6) & o
3UYFT A E

Ans of 1 T
X 2 g=oT
#< 3. grOT

X4 e

Question ID : 9895806724
Chosen Option : --

% R e e ¥ e suged oeg # wea w7

WA H 3erar g
Ans Xl@aﬁ-

v 2 FgTSt

X s et
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X 4 TEer

Question ID : 9895806715
Chosen Option : --

% e Tue # e F R ged 39gEd e F 9T F

ST FAEr s
Ans X 1. 3qTeIT

X2 @ |y

v F ager

XeFara

Question ID : 9895806716
Chosen Option : --

01-2 fArAfef@d # ¥ 30 ReeT & 709 F A T FOAT FEE F HY T AT B
Ans o aga st

X 2 FES BT

X s ag?raffqm

v o S WE e

Question ID : 9895806729
Chosen Option : --

% faw ow e # faee T

TR
L TR
X o TEFR

X3 FEHR
X 4 FEATA

Question ID : 9895806726
Chosen Option : --

%2 £y Ty Ty F AT U o AT

ﬁ'mﬁaqqama’r
Ans X1 IdTg
X 2. HeH T

X 2 gy

-t
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v o Rt

Question ID : 9895806731
Chosen Option : --

Q2 faw T A # Y@iFd TS H STowia F F R s9ge e 1w =)

TAN g2 & foreanw §1
Ans of 1 gTeTETA

Xz.ﬁ'w;

X3. Qiﬁ
< 4. FSUT

Question ID : 9895806714
Chosen Option : --

% Ra T e F RIw 3uged oeg w1 wwE #7

Tar = T % Fel
Ans . ;ﬂ—uE

X 2. FEEY

Vs 3=y

X 4. FogTsr

Question ID : 9895806718
Chosen Option : --
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